4 Notes:
DO NOT SCALE DRAWING T.[ Al materials fo be mild steel and

conform to relevant British standards.
All items to be pre-galvanised to BS EN 10346

or hot dip galvanised to ISO 1461.

ltems can be powder coated on request,
powder coating to : BS EN 13438
installation via R.A.M.S

450 MIN - 2600 MAX

Clamp bars must align with the hole placement in the
fence posts, always using slofs sized to match the bolt.

290 MIN - 2440 MAX Clamp bars should also match the width of the box.

A w0

ALL GATES & POSTS ARE TO BE
%) FITTED WITH BLACK PLASTIC INSERTS

80 MIN
1
\

\
4

27.5 T B8OMIN | | Panels can be cut to a minimum of 360mm, and I

the post centres can be adjusted accordingly to
2520mm + 10mm Post Centres suit this modification, while still maintaining the

Minimum Post Centres of 370mm overall security and stability of the system. 80

60mm/200mm |

?

V | — 60mm/200mm —

©0 00 |~ Horizontal clamp bars are only used on systems 2.0m

to 2395m high bolt down systems. Bars can be cut to
a minimum length 285 while maintaining the 150mm
MAX fixing pitch is maintained. Post centres and

X} 00 panel width adjusted to suit. ]

/
i

00 oo

W

ANARNEARARARNRNRNR RN NN

AN
LA N
DM

W\
;\\\‘
\

00 [oX¢]

\

R

Vi
N

MM
AN
W\\s

@\\\\
N

.\\&

§
N
\

o

Zz
ltem Component Name Qty

1 Ulcgence 2X® - DIG IN MESH FENCING POST 80X80x2.5mm 2

2 Profence 2X® - 1.8 - 3.3m HIGH X 2.5m WIDE MESH PRO TEN 1
FENCE PANEL ONLY

3 Profence 2X® - MESH FENCING CLAMP BAR 80X5MM X 1750 - 2
2950MM LONG

4 Profence 2X® - 80x80 - 200x200 BLACK RIBBED INSERTS 2

5 Profence 2X® - M12 x 110mm MIN CUP HEAD GALVANISED 6
BOLTS 8.8 GRADE

6 Profence 2X® - M8 x 110mm MIN CUP HEAD GALVANISED 32
BOLTS 8.8 GRADE

7 Profence 2X® - M12 WASHER 6

8 Profence 2X® - M12 SNAP OFF NUT FOR SECURITY BOLTS 6
GALVANISED

8 9 ACCS-PAL-0003 - M8 SNAP OFF NUT FOR SECURITY
— BOLTS

Profence 2X® - MESH FENCING CROSS MEMBER
CLAMP BAR 40X5MM X 2435MM LONG

i n Profence 2X® - M8 x 30mm MIN CUP HEAD
GALVANISED BOLTS 8.8 GRADE

f NAME DATE

= memd  [WIFirstFence

APVD HIRE & SALES

Rectangular slots are utilized in the box section
to allow adjustment of M8 bolts without needing
to break the mesh apertures for bolt insertion.

(] o0

(2] o0

1950 / 2350 /2950 HEIGHT OF PROFENCE 2X® CLAMP BAR

00 o0

2000 / 2400 / 3000 OVERALL HEIGHT OF PROFENCE 2X® FENCING SYSTEM

[} 00

2700 / 3200 / 3800 OVER ALL HIGHT OF INTERMEDIATE POST
0-50mm Ground Clearance When Mesh Is Not Dug In
50mm Ground Clearance Between Clamp Bar & Ground

o
(@]

10

N

G|

S N S T R R T N

If two mesh panels are used to achieve the required
fencing height, please refer to page 6 for guidance on
how to correctly join the panels while maintaining
compliance with the SR2 standard.

LBottom horizontal clamp bars is only applicable

when mesh is not dug into to ground. 0-50mm +0.2mm

= PROFENCE® 2X

>1000mm +3mm

700 /800 /
800 DUG IN LENGTH

Tolerance

——The 300mm MIN of fence panel buried in ground is
critical for sr2 compliance and crucial on soft ground,
where digging underneath is a common method of
by passing the fence.

— 700MM TO 800MM IN GROUND
DEPENDING ON HEIGHT OF FENCING

TITLE: REV
‘ -[ : ]— Third Angle Projection Profence® 2X 2.0m x 3.0m A
700-800x300x300mm, GRADE C20/25 — High - F2é5nr2ir\1NI?<ie1 Dig In H
MINIMUM CONCRETE FOUNDATION Material: N/A g

DEPENDANT ON POST DIG IN LENGTH WEIGHT: N/A SCALE: N/A | SHEET 1 OF 1]

6 5 4 3 2 1



Panels can be cut to a minimum of 360mm, and

SHS fully welded

TYP
Min OF 4 NO. M16x125mm 178
ANCHOR BOLTS FITTED IN
ACCORDANCE WITH
MANUFACTURERS z
INSTRUCTIONS. =
B e
Y =leaimami=d . ~
A I s
Te)
— N
5 N
AN i

D16 11

\
)

the post centres can be adjusted accordingly to
suit this modification, while still maintaining the

2000 / 2400 / 3000 OVERALL HEIGHT OF PROFENCE 2X® FENCING SYSTEM

6 5 4
DO NOT SCALE DRAWING
. 450 MIN - 2600 MAX _
z - 290 MIN - 2440 MAX N
s — - Z
o | |, 200 MIN =
S [T S
I o] [o @/0 3 °o| (o y
Y le[ Te o] o |
27.5
80 MIN |
- :\ BASE PLATE SIZE MINIMUM 200 x 200 x
5MM TO INCREASE WITH BOX SECTION SIZE
2520mm + 10mm Post Cenftres .
- Minimum Post Centres of 370mm ., Overdlsecurity
e 2435 — /
150 MAX o
|| ~
| o=3% S o S S S S o S A
] ]
>
<§( 00 00
S /
0
00 0 o/
o
<
on
o
=
00 00 <
O
@
2 &
5 L
00 00 0 O
of &
(e
O (a4
o o Qg_ &
c O
9 —
o &
00 00 5 &
0 o
2 2
s
00 00 8 3
8
= -~
3 3
O os
00 00 5 —
c
)
o o
<§( O
S 00 00 g
o S
|| 0
‘ S 1o T o o 0o 3 5 5 1° || ||
1 A
<"y |10 - 50mm Ground Clearance
C20/25 MINIMUM CONCRETE
FOUNDATION GRADE
6 5 4

and stability of the system.

Horizontal clamp bars are only used on systems 2.0m
fo 2395m high bolt down systems. Bars can be cut to
a minimum length 285 while maintaining the 150mm
MAX fixing pitch is maintained. Post centres and panel
width adjusted fo suit.

/—Clomp bars must align with the hole placement in the

fence posts, always using slots sized to match the bolt.
Clamp bars should also match the width of the box.

If two mesh panels are used to achieve the required
fencing height, please refer to page 6 for guidance on
how fo correctly join the panels while maintaining
compliance with the SR2 standard.

Rectangular slots are utilized in the box section
to allow adjustment of M8 bolts without needing
to break the mesh apertures for bolt insertion.

80

to base plate

Notes:

A w0

1.| All materials to be mild steel and
conform to relevant British standards.
All items to be pre-galvanised to BS EN 10346
or hot dip galvanised to ISO 1461.
ltems can be powder coated on request,
powder coating to : BS EN 13438
installation via R.A.M.S

ALL GATES & POSTS ARE TO BE
FITTED WITH BLACK PLASTIC INSERTS

60mm/200mm |

| 60MM/200mm | g

&

N
N

N

bl
%

SIRMUHERIRRN

)
30
N

T OH;t

L
AN
LA

N
A

RN

RN

N

NN
ARNTARAE AT ARAR AR ARARAR ARNRARARARN

Item Component Name Qty
1 Profence 2X® - BOLT DOWN MESH FENCING POST 80X80X2.5mm MIN 2
2 Profence 2X® - 1.8 - 3.0m HIGH X 2.5m WIDE MESH PRO TEN FENCE 1
PANEL ONLY
3 Profence 2X® - MESH FENCING CLAMP BAR 80X5MM X 1750 - 2950MM 2
LONG
4 Profence 2X® - 80x80 - 200x200 BLACK RIBBED INSERTS 2
5 Profence 2X® - M12 x 110mm MIN CUP HEAD GALVANISED BOLTS 8.8 6
GRADE
6 Profence 2X® - M8 x 110mm MIN CUP HEAD GALVANISED BOLTS 8.8 32
GRADE
7 Profence 2X® - M12 SNAP OFF NUT FOR SECURITY BOLTS GALVANISED 6
8 Profence 2X® - M8 SNAP OFF NUT FOR SECURITY BOLTS GALVANISED 64
9 Profence 2X® - M12 WASHER 6
10 Profence 2X® - M16 x 125mm MIN GROUND ANCHOR BZP 8
1 Profence 2X® - MESH FENCING CROSS MEMBER CLAMP BAR 40X5MM X 2
2435MM LONG
12 Profence 2X® - M8 x 30mm MIN CUP HEAD GALVANISED BOLTS 8.8 32
GRADE
f NAME DATE - ®
o] e Jorioraces lIFirstFence
APVD HIRE & SALES
g [ o-s0mm +02mm | SKU:
C
: o] om | PROFENCE® 2X
S
= >1000mm +3mm

-@- Third Angle Projection

TITLE:

Profence® 2X 2.0m x 3.0m
High - 2.5m Wide Bolt Down

Material: N/A

Fencing Kit

REV

| A

A3

WEIGHT: N/A

2

SCALE: N/A |SHEET 2 OF

1

11

A



6 5 4 3 2 1

DO NOT SCALE DRAWINGJ

- Irl
®
9 '8 .
\ REV DESCRIPTION DATE
/ NAME DATE . ®
- =t [llFirstPence
APVD HIRE & SALES
g | 0-s0mm +02mm | SKU:
(b PROFENCE® 2X
({,\Q l 2 >1000mm +3mm
TITLE: REV
Third Angle Proection Prof ® 2X 2.0 3.0
@ B
Material: N/A Fencing Ki
BOLT DOWN OUTSIDE CORNER CONFIGURATION A Y NG

6 5 4 3 2 1



6 5 4 3

DO NOT SCALE DRAWINGJ I

° . R
o l I

DIG IN INSIDE CORNER CONFIGURATION

200 MIN

8O MIN

o
o

o

o

200 MIN
o

80 MIN.
HR R

o

o H”“H“U"Nl\llmnm.....

BOLT DOWN INSIDE CORNER CONFIGURATION

6 5 4 3

\ REV DESCRIPTION DATE
f NAME DATE i ®
=t s [WFirstPence
APVD HIRE & SALES
0-50mm +02mm | SKU:
=] PROFENCE® 2X
= >1000mm +3mm
TITLE: REV
Third Angle Projection P f ® 2X 20 30
@9 e e A
Material: N/A Fencing Kit A3
WEIGHT: N/A SCALE: N/A | SHEET 4 OF 11
2 1




DO NOT SCALE DRAWING

For SR2 fencing, the dig in end post must be positioned against a wall
or structure that complies with SR2 standards. This ensures that the
entire fence meets the required security rating, as both the post and
supporting structure must prevent unauthorized access or tampering.

60 MAX

A

= =

80 MIN

DIG IN END POST CONFIGURATION

For SR2 fencing, the bolt down end post must be positioned against a
wall or structure that complies with SR2 standards. This ensures that the
entire fence meets the required security rating, as both the post and
supporting structure must prevent unauthorized access or tampering.

200 MIN
- 60 MAX -
O_I80MN. . O
= = Y

P

=

8

o) Q | oI K¢ O Q o} Q Q
B=S \ REV DESCRIPTION DATE
O O f NAME DATE II i ®
DRAWN W.P 107/08/2025 ||| F tF
L , , APVD H |'|?[§ SALEes n ce
In this sg’rup, the mesh panel is offset from the post by the 0.
same distance as the base plate. g | 0-50mm % 0.2mm
=] PROFENCE® 2X
= >1000mm +3mm
TITLE: REV
Third Angle Proection Prof ® 2X 2.0 3.0
-E]- © el—?i;ﬁ -2.5m V:/Fdxe " H
Material: N/A FeﬂCing Ki
BOLT DOWN END POST CONFIGURAT'ON WEIGHT: N/A SCALE: N/A |SHEET 5 OF 11
6 5 2 1



DO NOT SCALE DRAWING

1< 2520 + 10mm Standard Post Centres

Minimum & Maximum Post Centres

2435 Standard Clamp Bar Width

Minimum & Maximum Post Centres

Minimum & Maximum Post Centres

Minimum & Maximum Post Centres

=

The fence panel can be buried in ground

The Step height of any mesh
needs to be above minimum
height for compliance.

or cross member clamp pars can be used

to remain sr2 compliant.

é Due to the standard panel heights available, achieving the required raking on
> . . . some gradients may necessitate the use of two or more mesh panels stacked
8 ROCklng USIng STOndOrd HelghT POnels vertically. These panels can be cut to size as needed. To remain compliant to SR2 a
— cross-member clamp bar needs to be utlised on each panel at the point they join.
SR2 Stepping Configuration & Gradients
5° Gradient 9° Gradient 18 ° Gradient 25° Gradient
System Min Fencing Min Fencing Min Fencing Min Fencing
; post . _ post ‘i B post - _ post . _
H((er;%ht Height AA/)\IQ;TnquSWm Minimum Height ';\AAlgL(Tr#LTm Minimum Height mgmﬁ&nm Minimum Height '\I\/)\IQ;(TnE]JLTm Minimum
Above Post Centres Section Size Above Post Centres Section Size Above Post Centres Section Size Above Post Centres Section Size
Ground (mm) Ground (mm) Ground (mm) (mm) Ground (mm) (mm)
Level (Min (mm) Level (Min (mm) Level (Min Level (Min
Dug-In) Dug-In) Dug-In) Dug-In)
2.0m 2.0m 670-2520 + 80x80x2.5 2.0m 670-2520 80x80x2.5 2.0m 670-2500 + 80x80x2.5 2.2m 440-2115+ 80x80x2.5
’ (700mm) 10mm mm (700mm) 10mm mm (700mm) 10mm mm (700mm) 10mm mm
21m 2.2m 670-2520 + 80x80x2.5 2.2m 670-2520 + 80x80x2.5 2.2m 670-2500 + 80x80x2.5 2.4m 440-1660+ 80x80x2.5
: (700mm) 10mm mm (700mm) 10mm mm (700mm) 10mm mm (700mm) 10mm mm
2 4m 2.6m 670-2520 + 80x80x2.5 2.6m 670-2520 80x80x2.5 2.6m 670-1500 + 80x80x2.5 3.0m 450-750+ 80x80x2.5
: (800mm) 10mm mm (800mm) 10mm mm (800mm) 10mm mm (800mm) 10mm mm
3.0m 3.2m 670-2520 + 80x80x2.5 3.2m 670-2520 + 80x80x2.5 3.2m 670-1430 80x80x2.5 3.4m 450-750 80x80x2.5
: (800mm) 10mm mm (800mm) 10mm mm (800mm) 10mm mm (800mm) 10mm mm
6 5 4

\ REV DESCRIPTION DATE
f NAME DATE i ®
oewn]_wr_oriosras lIFirstFence
APVD HIRE & SALES
g | 0-s0mm +02mm | SKU:
¢ [mom[=m | PROFENCE® 2X
= >1000mm +3mm
TILE: REV
-@- Third Angle Projection PrOfenCG@ 2X 2.0m x 3.0m A
High - 2.5m Wide ———
Mmaterial: N/A Fencing Kit A3
WEIGHT: N/A SCALE: N/A | SHEET 6 OF 11

2

1



	Sheet1
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View202
	Drawing View203
	Drawing View223
	Drawing View225
	Detail View AN (1 : 8)

	Sheet2
	Drawing View205
	Drawing View206
	Drawing View207
	Drawing View208
	Drawing View209
	Drawing View210
	Drawing View218
	Detail View AJ (1 : 8)
	Drawing View220
	Detail View AM (1 : 8)

	Sheet3
	Drawing View195
	Drawing View196
	Detail View AH (1 : 5)
	Drawing View199
	Drawing View200
	Detail View AI (1 : 5)

	Sheet4
	Drawing View227
	Drawing View228
	Drawing View229
	Drawing View230
	Detail View AO (1 : 6)
	Detail View AP (1 : 6)

	Sheet5
	Drawing View244
	Drawing View250
	Detail View AW (1 : 5)
	Drawing View252
	Drawing View253
	Detail View AX (1 : 6)

	Sheet6
	Drawing View255
	Drawing View256
	Detail View AY (1 : 20)

	Sheet7
	Drawing View276
	Drawing View277
	Detail View C (1 : 4)
	Detail View D (1 : 2)
	Drawing View280
	Drawing View283
	Detail View A (1 : 4)
	Detail View B (1 : 3)

	Sheet8
	Drawing View287
	Drawing View289
	Drawing View291
	Drawing View292
	Drawing View293

	Sheet9
	Drawing View267
	Drawing View268
	Drawing View270
	Drawing View271
	Detail View A (1 : 4)
	Detail View B (1 : 2)
	Detail View C (1 : 2)

	Sheet10
	Drawing View186
	Drawing View187
	Detail View A (1 : 1)
	Drawing View189
	Detail View AB (1 : 5)
	Drawing View191
	Detail View AC (1 : 7)
	Drawing View193
	Detail View AD (1 : 7)

	Sheet11
	Drawing View167
	Drawing View168
	Drawing View169
	Drawing View170
	Drawing View171
	Drawing View172
	Drawing View173
	Drawing View174
	Drawing View175
	Drawing View176


